H.W. #11 EE 220 Fall 2017
Show your work for credit!

1. Calculate the voltage across R4 in the below circuits. Next find the Thevenin and Norton
equivalent circuits at the port indicated by the red dots in the below schematics (this
means without R4 in the circuit). Show that your equivalent circuits are correct and then
verify with LTspice. (6 points)

R1 R1 R2
Va VX Vin /\/\/ Vout
Vs 1.5k Vs 3k G1 1.5k
R2 R3 R3 ¥ R4
1.5k = 3k
W R 4k 7K 45y 1e4
Vb 1.5k (a) (b)

2. Find the voltage VB in the following circuit. Verify your answer with LTpsice. (3 points)

R1 E1_3
Vs /\/\/ VX o o NE
1m 1.5k fogst
n o
R2 = > R3
1 1.5k 3k

3. Find Vout in the following circuit. For all intents and purposes you can assume the gain
of the VCVS is infinite. (3 points)

4. Find Vout in the following circuit. Verify your answer with LTspice. As always, show
your work for credit. (2 points)




